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 حK ا�;��ی' ا=ول:

 

AB 1-ح��ب  

B  -. )اوی	ا� *��+ ABC   ة�.- ا��ا� �ذن ا�$, 0إ+8  [AC] �9ی�� 

AB2 + BC2 = AC2   )9ه�H� رسح��#J�,�.  

2 AB2 = AC2  ذنإ   AC = AB = BC  . 1���Kن  ABCD أن �$� 

AB2 = 
AC2

2
ن                                        Kو �9= .     

AB = 
1

2 
 AC = 

2 
2

 AC =  
2 
2

 × 2 r 

                                       = r 2  

                                      = 8 2   

AB = 8 2  cm     ذن                                                                      إ  

�� �� � � �C�7 oAB 2-0 ,$ح( ا����  

S = 
oA × oB

2
 

 و �� �M( أ?�ى ��ی�9

S = 
oH × AB

2
 

 

oA × oB
2

 = 
oH × AB

2
ذن                                                                 إ    

oH  = 
oA × oB

AB
 = 

64

8 2 
 = 

8

2 
 × 

2 

2 
 = 

8 2 
2

 = 4 2  

oH = 4 2  cm  

SABCD = a2 = AB2 = (8 2 )2   3-                                                       

  

          = 128 cm2  

 

 حK ا�;��ی' ا���ن,:

 

SABC = 
AB × AC

2
  ABC+��* ا�	اوی( .-   A                               :ذن إ      

      = 
9 × 12

2
 

    =  54 

 = SABC  و ا�Oي ه# �H�7� ث�3- �$��ح( �, 0 
AH × BC

2
  ��ی�9 -2   

AH = 
2 SABC

BC
ذن                                                                          إ      

ABC 0 ,$رس .- ا�#J�,�. )9ه�H� ث��3( ح�� )�M �� 

AB2 + AC2 = BC2                                     �9ی��                                



 

BC = AB2 + AC2                                                                  -9ی� 

 

AH = 
2 SABC

AB2 + AC2 
                                                            -��C��� و 

    = 
2 × 54

144 +81 
 

AH  = 
108

225 
 

    = 
108
15

 

    = 
36
5

 

SABH = 
AH × HB

2
    3-                                                            

SAHC = 
AH × HC

2
 

:ذن إ 453 ا�$��ح(   AHC و  ABH  ��, ,$ � 

AH × HB
2

  = AH × HC
2

 

(1) HB = HC  

. K ن: HC = BC – HB    أن �$� 

 QHA7 (1)  )+Rا�� 

HB  = BC – HB  

2 HB =  BC 

 

HB = 
BC
2

 

x = HB = 
BC
2

 = 
15
2

ذن                                                           إ           

 

 حK ا�;��ی' ا����6

 

 (BC) � � A )8&9 � ا�$�&% ا��$#دي H  1-1� )اوی	ح( �, 0 +��* ا����  

�� �� � � �C�7 

S = 
AH × BC

2
 = S   و   

AB × AC
2

 

AH × BC
2

   =   
AB × AC

2
                                                        -��C��� و 

AH × BC = AB × AC    ذن                                                            إ  

ABC 2-)اوی	رس .- ا�$, 0 ا�&��* ا�#J�,�. )9ه�H� ح��  

: H  +-. *��  ABH 

AB2 = AH2 + BH2   

H -. *��+ ACH 

AC2 = AH2 + HC2  

AB2 = BC2 – AC2  



 

       = (BH + HC) – AC2  

       = BH2 + 2 BH × HC + HC2 – AC2 

       = BH2 + 2 BH × (BC – BH) + (AC2 – AH2) – AC2  

       = BH2 + 2 BH × BC – 2 BH2 – AH2 

- AH2 = BH2 – AB2                    �9و ��ی 

   AB2 = 2 BH × BC – BH2 + BH2 – AB2  

2 AB2 = 2 BH × BC                                                              -��C��� و 

 

        AB2 = BH × BC     ذن                                                           إ  

 

AC2 = BC2 – AB2  

       = BC2 – BH × BC 

       = BC (BC – BH)  

       = BC × CH 

   ��ی�9 ح�� ا��Sال-3  (1)

AB × AC = AH × BC 

AH2 =  
AB2 × AC2

BC2  ی�9-                                                                  

      =  
(BH × BC) × (BC × CH)

BC2  

     = BH 
× CH × BC2

BC2  

 

                                AH2 = BH × CH  

 

4-  

BC2 = AB2 + AC2         (1) 

AB2 = AH2 + BH2   ذن  إ                                           H  -.  *��+ ABH 

 AC2 = AH2 + HC2   ذن           إ                                  H  -. *��+ ACH  

  ث* �3#ض .-    (1) ==>

BC2 =  AH2 + BH2 + AH2 + CH2  

 

     BC2  = BH2 + CH2 + 2 AH2  

 

5-  

1
AB2 + 

1
AC2  = 

AC2 + AB2

AB2 × AC2       3#ح� ا�$&�م:                                          

= 
BC2

(BH × BC) × (CH × BC)
)                                       2(ح�� ا��Sال     

= 
BC2

BH × CH × BC2     الS3(ح�� ا��                                                 (  

= 
1

BH × CH
 



 

= 
1

AH2 

    
1

AH2  =  
1

AB2 + 
1

AC2 

 

 حK ا�;��ی' ا��اب4:

 

:ذن إ  E  -. )اوی	ا� *��+ EFG 1-  

EF2 + EG2 = FG2  

EG2 =  FG2 – EF2 

EG = FG2 – EF2   

     = 16 - 12  

    = 4  

    = 2 

: EH  2-ح��ب  

S = 
EH × FG

2
  

S = 
EF × EG

2
 �7�ی@ X?� � $��ح(                                                            

EH × FG
2

  =  
EF × EG

2
ذن                                                          إ    

EH  =  
EF × EG

2
                                                              -��C��� و 

       = 
2 3  × 2

4
 

     = 3  

FH 3- ح��ب  

 .- ا�$, EFH  0 ا�&��* ا�	اوی( .- H ��ی�9

EH2 + HF2 = EF2  

HF2 = EF2 – EH2  ذن                                                                  إ  

HF =  EF2 – EH2  

     = 12 – 3  

    =  9  

    = 3  

 

:?��
 حK ا�;��ی' ا�

 

1-  

(AB)  � � I  ا�$�&% ا��$#دي  ل K  �9ی�� 

(AB)  � � دي#$� (KI) ذنإ  

(AB)  � � دي#$� (AC) �9و ��ی 

(KI) ⁄⁄ (AC)   -��C��� و:         A 

B 

K 

C 

H 

I 

 

 

 

H 

G 
E 

F 

 



 

 

     KÎA  =  IÂC   ن                                                              إ�Cاوی	ذن ا�  

     KÂI  =  IÂC      �9ى ��ی�?X )�M ��                                                    

 

                             KÎA  =  KÂI             ذن  إ:                                      

 

ذن ا�$, 0إ  ��C� KIAوي ا���+��  KIA  0 ,$ن .- ا��Cه��7ن زاووی 

                       KI =  KA    -��C��� و                                                       

1
KA

=  
1

AC
  +  

1
AB

  ��H3 أن  -2   

 ��ی�9 (KI) ⁄⁄ (AC) ح�� �H�ه9( ����4 ا�$��H�ة

BK
BA

  =  
BI
BC

  =  
KI
AC

 ��ی�9                                                                        

KI = 
BK × AC

BA
 

     =  
(AB – AK) × AC

AB
  

    =  
AB × AC – AK × AC

AB
 

    = AC – 
AK × AC

AB
 

AK = KI   (1)   الSی�9 ح�� ا����  

KI + 
KI × AC

AB
 = AC   ذن                                                                   إ   

KI (1 +  
AC
AB

) = AC  

KI (
AB +AC

AB
) = AC                                                                    -9ی� 

KI =  
AC × AB
AB + AC

 

1
KI

 =  
AB + AC
AC ×AB

ذن                                                                        إ      

     =  
AB

AC × AB
  +  

AC
AC × AB

 

   = 
1

AC
  +  

1
AB

 

                              
1

KI
  =  

1
AC

  +  
1

AB
 

 

  ��ی3-�9

AI2  =  AK2  +  KI2  

       = 2 AK2  

AI  =  2  AK  ذن                                                                          إ  

1
KI

  =  
1

AC
  +  

1
AB

��Sال و ح�� ا  (2)  ��ی�9                                             


